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#include <iostream:
using namespace std;
int main()

const int arraySize = 10;
int n[ array5ize |={12,3,4,6,13,16,2,7,0,8%}; a
cout << "Elementi\t"™ <« "Valueht"<< "Histogram"
int i= 0; i < arraySize; i++ )

for |

cout << i <<
for ([ int
cout<
cout << endl;
¥
return 0;

end main
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<< nf
gr 3 <« nl[i]:

i :{{II"._.t_II;
Jj++ )

successful

<< endl;
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10 15 20 40 40 7
/ hours [0] hours[1] hours[2] hours [3] hours [4] S
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. - I Employee Employee Employee  Employee Employee
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int main()

const int NUM EMPS

int index;

int hours[NUM EMPS]; Define 2 paralle

doukle payRate[NUM EMPS]; |

double grossPay: :
P

|
e I

5

L]

employee work data |
worked and

%o FT w
i r

a—;—\.---u-s
LRI E

the

]

cout << "Enter

<< HNUM EMPS << employvees.

_mpluyee

G
fal el LW

worked and hourly pay ratez of 5 employees.
employee #i: 4

for employee #1: 15
employee #2:

for employee
employee #3:

for employee
employees #d:

for employee
employee #5:

for employee

nter the hours
ours worked by
ourly pay rate
ours worked hy
ourly pay rate
ours worked hy
ourly pay rate
ours worked hy
ourly pay rate
ours worked hy
ourly pay rate

ere iz the gross pay for each emplogee:
mployee H#H1: 56

mployee #2: 5112

mployee #3: 5198

mployee #4: $586

#5: $132

rates

Tr Falr :f 1
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for (index = 0: index < NUM EMPS5; index++)
cout << "Hours worked by employvee " << (index + 1) << ": ";
[cin >» hours[index]:
[cnat << "Hourly pay rate for employee " << (index + 1) << " ©
cin >> pavBRate[index];
¥
"/ Di=splay the data
cout << "\nHere is the gross pay for each employee:\n";
for (index = 0; index « NUM EMPS3; index++)
[grnssFay = hours|[index] * payRate[index]: }
cout << "Employee F" << (index + 1)
cout << ": " << grossPay << endl;
¥
return 0;
¥
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cin >> aln];
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Ox0064fdba
0x0064fdbb
r—0x0064fdbc
0x0064fdbd
0x0064fdbe
0x0064fdbf
0x0064fdc0
0x0064fdc1
0x0064fdc2
0x0064fdc3
0x0064fdc4
0x0064fdc5
0x0064fdcb
0x0064fdc7
—» 0x0064fdc8
0x0064fdc9
0x0064fdca
0x0064fdcb
0x0064fdcc -

offset = 12 bytes
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vold showValue (1nt); // Function prototype

int main{)

const int RRRAY_SIEE = 5
int cnllectinnjﬂRRRY_EIEE: = {5, 10, 15, 20, 25, 30, 35, 40}

for (int cycle = 0; cycle < ARRAY SIZE: cycle++)
showValue (collection[cycle] )

cout << endl;

return 0;

} 5 18 15 28 25 38 35 48

vold showvValue (int num)

cout << num << " "; A
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int myarray [40];

void procedure(int argl(])
procedure (myarray) [l LRy
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int main()

const int RRRRY_EIEE = 8

int collection[ARRAY SIZE] = {5, 10, 15, 20, 25, 30, 35,

showValues (collection, ARRAY SIZE); }

return 0O;

 —

vold showValues (int nums[], int =ize) |

for (int index = 0; index < size; index++)
cout << nums[index] << " ";

cout << endl;

}

40%:
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showal ues (coll ection, ARRAY SIZE) ,;
void showalues (int nuns [ ] , Int size)
{
for (int index = 0; index < size ; iIndex++)
cout << nuns [ Index | << “ “
cout << endl:
}
collection array of eight integers
5 10 15 20 25 | 30 35 | 40 |
T s
n nums n ... and so forth |
rel'I:;:r!:cz:'ls re::ren[cg rel;::n[r:zel e ‘; “ b

collection[0] collection[l] collection|[2]
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$#include <iostream>
using namespace std:

] vold printarray

()

]int main

int firstarrayl|[]

int =secondarray[] =
printarray
printarray

return 0;
- ¥

(int argll],

for (int n=0; n<length;
cout << argn] << " ";
cout << "wn";

.:5’_

':Et

(Eirstarravy, 3);
(zecondarravy, S);

int length)
n++)

r

15
2 46 8

15} ;
&, B

b

5 18

18

10,

4, 10%;
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$include <iostream>
u=sing namespace =2td;
int sum(int[],int);

int main/{)
int a[] = { 11, 33, 55, 77 };
int size = sizeof(a)/sizecf(int):;
cout << "sum(a,3ize) = " << sum({a,=size) << endl;
}

int sum{int af[], int n)
int sum=0;
for (int i=0; i<n; 1i++)
sum +—= al[i]:
return sum;

d

umnfta.size> = 176
CSJJ"L.).()'SMU)‘). CS')U'D
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$include <iostream>
using namespace std;
]int main()
{ int a[4] = { 44, 32,345,134}:;
cout << "a = " << a << endl;
cout << "a[0] = ™ << a[0]<<endl; //

a = BA1Z2FF1C
al@l = 44

"8 O0012FF1C
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¥include <iostreams
using namespace std;
vold read(int|],int&):;
volid print({int[],int):;
const int MAXSTZE=100;
int main/()

int a[MAXSIZE]={0},size;
read(a,=zize);

cout <<
print(a,=size);

"The array has "

E
vold print{int a[],int n)
for (int i=0; i<n; 1i++)
cout << af[i] << " ";

<< slze <« "

gelements: ":

Enter integers. Terminate with BA:

vold read(int af[],int& n)
cout << "Enter integers. Terminate
n = 0;

do
cout << "a[" << n << "]: ";
cin >> a[n]:

} while (a[n++] '= 0 && n < MLXS5TZE) ;
r A4 .don't count the 0
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Defined data types (typedef) =

(Rlaged @ ) 39800 gloil ob plg30 typedef (salawg ay
2315 @0 @S 338

typedef existing type new type nane;

gy CSue oy typedef // o)&c.// Z

)/))/9//'/0‘// sl C);ga (oo,.w ,Z&u

typedef int integer; Wi K
typedef unsigned int uint;
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typedef int arrayIypel[]: I .

QU RIgtAtyERS

vold doublebrray(arraylype, 1int):;

--I

vold showValues (arraylype, int):;

LﬁfzayTypE get = {1, 2, 3, 4, S5, &, T}: 1

cout << "The arravys valuss are:\n";
The arrays values are:

1234567

showValues (set, ARRAY SIZE):

slalel iR b e A P R AN N F ter calling doublefArray, the values are:
2 46 8 18 12 14

cout << "‘\nAfter calling doublefArray, the wvalues are:\n";
showValues (set, ARRAY S5IZE);
EDJ.t- ":": E:l.'j.l.: r__'E____'I:'.:I'_E ———————— ']:' e e e i )
return 0; (012 _showvalues (arraviyvpe nums, nr ==l
} ' @
for (int index = 0; index < =ize; index++)
= . . T - 7 I IT =
‘ﬂLﬂhUI;Uf ryblcﬂhul cout << ;jms_lndex_ << :
- - cout << en .
W) M540 Jac £b)] b (I
Ao T ) uslas silgg -0 &'B
r-------------------------_—---_—-\
vold doubleArray(arraylype nums, int =size
for (int index = 0; index < =size; index++) Iy
| nums [index] *= 2;
s PIRVL U0 - : “




double sumiArray(double[], int):

double getHighes=st (double[], int):

double getLowest (doubkle[], int):

int main()

const int NUM DAYS = 3;

double sales[NUM DAYS],

total, average, highest, lowest;

cout << "Enter the salesz for this week.\n

for (int day = 0; day < NUM DAYS; day++)

h

QU i

double sumbrray(doukble arrav([], int =ize)

double total ) Lecumulator

for (int count = 0; count < =ize;

total += array[count];

count++)

return total:;

_t_ double getHighest (doubkle array[], int =ize)
cout << "Day " << (day + 1) <<": " .
cin >> sales[day]; double highest = array[0]:
¥ for (int count = 1; count < size; count++)
"/ Get total =sales and compute average sale if (array[count] > highes=t)
total = sumbfrray(sales, NUM DAYS): highest = array[count]:
average = total / NUM DAYS: ¥
Get highest and lowest sales amounts return highest;
highest = getHighest (sales, HUH_DAYS]; ! double getLowest (doubkle arrav[], int =ize)
lowest = getlLowest (sales, NUM DAYS); i
double lowest = arrav[0]:
Display results for (int count = 1; count < sSize; count++)
cout << "The total =salesz are 2" << total << §{ if (array[count] < lowest)
cout << "The average =sales amount is £" << ajlowest = array[count]:
cout << "The highest =ales amount is 5" << hi! 'Wﬂffggfmlm3fﬂrthﬁ3”3ﬂ“
cout <« "The lowest =sales amount is 5" <<« 1D1§Etarn lowest; %;E
return 0; g;gi
H total sales are 975
eungianlip ¢ o hiohedt S310S neuns It 34

52

lowvest sales amount is
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* It a[2][5];

100000 £03 )| 3@y aw al)l )
« intK[3][2][5];
153y Nyl Gy dpas sabdls ols

coiuan 4o c1fun ~S1Z€0F ()] £5) X 12 bt g sz o x .o = o RO
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Sizeof (int)*2*5=40
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Column 0 Column 1 Column 2 Column 3
Row O score[0] [0] score[0] [1] score[0] [2] score[0] [3]
Row 1 score[1] [0] score([1] [1] score(1] [2] score(1] [3]
Row 2 score[2] [0] score[2] [1] score(2] [2] score(2] [3]
double score[?][ﬁ]:

| | | Column 0 Column 1
Rows Columns Row 0 8
Row 1 7
Row 2 6

int hours([3][2] = ({8, 5}, {7. 9}, {6,

int hours[3][2] = (8, 5, 7, 9, 6, 3};
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int a[2][3]={{3,1,2},{3,5,7}};

:Jol sy TGl ©
int af 1[3]={{3,1,2},{3,5,7}}:

Int table[3][2] = {{1}, {3, 4}, {5}};

Q0,0 o A3lseg3) polic (,5(.) .

int [2][3][4]={{{1,2,3,4},{3,2,3,4},{3,2,2,1}}, {{2 3,5,6},{1,2,4,2},{1,2,2,1

s Panlp o5l



int main/()

const int NUM ROWS = 3; // Number of rows
const int NUM COLS = 5; // Number of columns
int total = 0; // Accumulator

int numbers[NUM ROWS] [NUM COL3] = {{2, 7, 9, &,

{e, 1, 8, 9, 4%,

{4, 3, 7, 2, 9}}:;

/4 Bum the array elements

for (int row = 0; row < NUM ROWS; row++)
for (int col = 0; col < NUM COLS; col++)

total += numbers|[row] [col]:

¥

"/ Display the =um

cout << "The total is " << total << endl;
return 0;

4},

The total
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void showArray(int array[] [ NUM COLS], I nt nunRows)

B ssaigy sl G a5 $Bals CHt )y e
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Finclude <iostream>
$#include <iomanip>

- (1]

using namespace std; C:‘

const int NUH_CDLS = g4 Mumber of column=s in sach arra

const int TELl_RDWS = 3 Number of rows in tablel

const int TELE_RDWS = 4 J/ Humber of rows in tableld

vold showhrray(int [] [NUM COL5]), int); Function prototype

int main/()

int tablel[TBL1 ROWS] [WUM COLS] = 1, 2, 3, 4}, 9 i@ 11 12

':E'r Er '-"'r S}r

{9, 10, 11, 12}}: The contents of tabhle2 are:

int table2 [TBLZ ROWS] [NUM COLS] = 10, 20, 30, 40}, 18 28 38 48

. 50, &0, 70, B0, LA 64 YA 86
139 148 158 1@

{130, 140, 150, l1a0}};:

cout << "The contents of takblel are:\n"; D20

showhArray(tablel, TEL1 ROWS);
cout << "\nT contents of tablel
showhrray (table2, TBLZ ROWS);
return 0;

H

-

0
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vold showArray(int array([] [NUM COL5], int numRows)

a r

for (int row 0; row < numBows: rowt++t)

for [(int col 0; col <« NUM COLS5; col++)

cout << setw(d) << array[row] [col] << " ";

¥
cout << endl:

¥
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